BT N =R R G B (A= — )]

TRk284F 1 H
Ol jaj S| Sz SLa /,me% AN /AJ:‘F”E% fF%%\A%i x A . T4 [A A 1HADPOORE B
AT — EI(1§% (2) %(S;EH B (4) K {%5 Jf) 3 (6) K ﬁﬁ(jf)i (%O%f; T S%(B) [A/B %/ &% (C) |#F (D) | C/D%
HAINY 4 4 2| 200.0 4 2[  200.0
BEHET 109 109 101 107.9 109 101 107.9
H iy 9 1 1 14 25 21 119.0 25 21 119.0
A H 58 163 221 246 89.8 221 246 89.8
AN 22 1 12 20 55 53| 103.8 55 53| 1038
~VH 3 66 6 58 133 127 1047 133 127  104.7
— 31 2 9 4 46 31 148.4 46 31 148.4
=ESTED 11 6 4 6 27 18 1500 27 18]  150.0
H g 1 112 24 45 9 191 187 102.1 191 187 102.1
AR 1 54 7 62 71 87.3 62 71 87.3
=P 1 2 477 46 534 7 1,067 1,206 88.5 1,067 1,206 88.5
UDKZ 77 A 2 5 7 10 70.0 7 10 70.0
D [E| PE 2 13 15 25 60.0 15 25 60.0
i) A H 1 35 9 26 71 52| 136.5 71 52| 136.5
&t (E) 52 10 889 104 893 0 68 17 2,033 2,150 94.6 2,033 2,150 94.6
ATAER A 5 (F) 73 11 665 132 1,183 66 20 2,150
Wt E/F % 71.2 90.9 133.7 78.8 75.5 103.0 85.0 94.6
ai A & (G) 104 13 776 174 839 82 61 2,049
Wt E/G% 50.0 76.9 114.6 59.8 106.4 82.9 27.9 99.2
LA DD B E (H) 52 10 889 104 893 68 17 2,033
ARG (1) 73 11 665 132 1,183 66 20 2,150
F e H/T% 71.2 90.9 133.7 78.8 75.5 103.0 85.0 94.6




BT N =R R G B (A= — )]

R 2842
HLOfE j{ b - RLo ] ?;?‘é@%% AN /AJ:*'E% %ji x A . T4 [A A 1AM EE B
AT — EI(1§% (2) %(?jﬁ B (4) K i)f) EI\(6) K ﬁﬁ(j;f)i (%O%E;i; T ARB) | AZB 9| A (C) BT (D) 7D %
HAINY 4 4 2| 200.0 8 4  200.0
BEHET 124 124 121 102.5 233 222  105.0
H iy 27 2 1 22 52 32| 1625 77 53| 1453
A H 96 182 278 283 98.2 499 529 94.3
AN 28 2 8 19 57 64 89.1 112 117 95.7
~VH 90 6 50 146 155 94.2 279 282 98.9
= 35 14 5 54 41 131.7 100 72| 1389
=ESTED 22 8 4 6 40 39| 1026 67 571 1175
H g 11 5 149 42 82 14 303 255 1188 494 442 1118
AR 92 92 89| 1034 154 160 96.3
rax 9 6 404 72 559 14 1,064 1,342 79.3 2,131 2,548 83.6
UDKZ 77 A 6 2 8 16 50.0 15 26 57.7
D [E| PE 2 17 19 12| 1583 34 37 91.9
i) A H 4 60 14 20 98 94| 1043 169 146 115.8
&t (E) 109 23 958 147 1,003 0 77 22 2,339 2,545 91.9 4,372 4,695 93.1
ATAER A 5 (F) 91 8 810 179 1,353 91 13 2,545
Wt E/F % 119.8 2875 118.3 82.1 741 84.6 169.2 91.9
ai A & (G) 52 10 889 104 893 68 17 2,033
Mt E/G%| 2096 230.0 107.8 141.3 112.3 113.2 129.4 115.1
LADSOBREH (H) 161 33 1,847 251 1,896 145 39 4372
ARG (1) 164 19 1,475 311 2,536 157 33 4,695
F e H/T% 98.2 173.7 125.2 80.7 74.8 92.4 118.2 93.1




BT N =R R G B (A= — )]

TRk 2843 H
HOfE jEE B Sz SLa /,me% AN /,J;ME% %ji x A . T4 [A A 1HADPOORE B
AT — EI(1§% (2) %(Sfﬁ B (4) K {%;3 )f) 3 (6) K ﬁﬁ(j;f)i (%O%E;i; T S%(B) [A/B %/ &% (C) |#F (D) | C/D%
HAINY 2 2 3 66.7 10 7 142.9
BEHET 125 4 129 251 51.4 362 473 76.5
EE5; 37 7 11 50 105 102 102.9 182 155 1174
A H 150 361 511 493  103.7 1,010 1,022 98.8
AR 61 5 26 66 158 139 1137 270 256| 1055
VA 92 17 64 173 230 75.2 452 512 88.3
— 64 4 24 3 95 59| 161.0 195 131 148.9
=ESTED 22 3 11 10 46 61 75.4 113 118 95.8
H g 16 5 234 67 191 15 528 514  102.7 1,022 956 106.9
AR 94 94 147 63.9 248 307 80.8
=P 12 7 733 175 988 20 1,935 1,827 105.9 4,066 4,375 92.9
UDKZ 77 A 22 11 33 22| 1500 48 48|  100.0
D [E| PE 12 1 30 43 241 179.2 77 61 126.2
i) A H 2 140 23 35 200 193] 103.6 369 339 1088
&t (E) 184 27 1,538 334 1,759 0 177 33 4,052 4,065 99.7 8,424 8,760 96.2
ATAER A 5 (F) 223 30 1,527 307 1,813 139 26 4,065
Wt E/F % 82.5 90.0 100.7 108.8 97.0 127.3 126.9 99.7
ai A & (G) 109 23 958 147 1,003 77 22 2,339
Mk E/G%| 1688 1174 160.5 227.2 175.4 229.9 150.0 173.2
LA DD B E (H) 345 60 3,385 585 3,655 322 72 8,424
ARG (1) 387 49 3,002 618 4,349 296 59 8,760
F e H/T% 89.1 122.4 112.8 94.7 84.0 108.8 122.0 96.2




BT N =R R G B (A= — )]

TRk 2844 H
HOfE j{ B Sz SLa /,me% AN /AJ:*”E% f%%%% KO . T4 [A A 1HADPOORE B
AT — EI(1§% (2) %(Sfﬁ B (4) K {%;3 )f) 3 (6) K m(§)$ (%O%E;i; T S%(B) [A/B %/ &% (C) |#F (D) | C/D%
AN 11 11 3| 366.7 21 10 2100
BEHET 90 90 90| 100.0 452 563 80.3
EE5; 24 6 3 14 47 21| 2238 229 176/ 130.1
A H 95 270 365 310 1177 1,375 1,332| 103.2
AR 14 14 10 38 52 73.1 308 308/ 100.0
VA 44 15 45 104 162 64.2 556 674 82.5
—7 21 16 3 40 18 2222 235 149 157.7
=S 8 6 5 4 23 24 95.8 136 142 95.8
H g 5 1 69 28 104 3 210 187 1123 1,232 1,143 107.8
AR 3 138 141 68| 207.4 389 375 103.7
=P 8 8 684 87 749 12 1,548 1,525 1015 5,614 5,900 95.2
UDKZ 77 A 13 4 17 11 154.5 65 59| 1102
D [E| PE 10 4 11 25 14| 178.6 102 75|  136.0
i) A H 1 62 11 4 78 85 91.8 447 424 105.4
&t (E) 83 21 1,068 163 1,337 0 51 14 2,737 2,570 1065 11,161 11,330 98.5
ATAER A 5 (F) 74 27 830 148 1,424 53 14 2,570
Mt E/F %] 1122 77.8 128.7 110.1 93.9 | #DIV/0! 96.2 100.0 106.5
A A (G) 184 27 1,538 334 1,759 177 33 4,052
Wt E/G% 45.1 77.8 69.4 48.8 76.0 | #DIV/0! 28.8 42.4 67.5
LA DD B E (H) 428 81 4,453 748 4,992 373 86| 11,161
ARG (1) 461 76 3,832 766 5773 349 73| 11,330
F e H/T% 92.8 106.6 116.2 97.7 86.5 | #DIV/0! 106.9 117.8 98.5




BT N =R R G B (A= — )]

TRk 2845 H
HOfE j{ B Sz SLa /,me% AN /AJ:*”E% f%%%% KO . T4 [A A 1HADPOORE B
AT — EI(1§% (2) %(Sfﬁ B (4) K {%;3 )f) 3 (6) K m(§)$ (%O%E;i; T S%(B) [A/B %/ &% (C) |#F (D) | C/D%
HAINY 0 #DIV/0! 21 10 2100
BEHET 93 93 101 92.1 545 664 82.1
EE5; 12 1 4 9 26 29 89.7 255 205 1244
A H 86 183 269 297 90.6 1,644 1,629 100.9
AN 30 2 14 18 64 51 1255 372 359| 1036
VA 46 6 30 82 154 53.2 638 828 77.1
=7 11 1 8 4 24 23| 1043 259 172 150.6
=ESTED 10 5 4 4 23 19 1211 159 161 98.8
H g 1 88 25 74 1 189 222 85.1 1,421 1,365 104.1
AR 101 101 60| 168.3 490 435 1126
=P 12 4 522 75 589 5 1,207 977 1235 6,821 6,877 99.2
UDKZ 77 A 10 2 12 19 63.2 77 78 98.7
D [E| PE 1 3 5 9 9| 1000 111 84| 1321
i) A H 77 10 17 1 105 92| 1141 552 516/ 107.0
&t (E) 76 12 923 139 1,002 0 43 9 2,204 2,053 1074 13,365| 13,383 99.9
ATAER A 5 (F) 94 1 690 175 1,042 44 7 2,053
Wt E/F % 80.9 | 1200.0 133.8 79.4 96.2 97.7 128.6 107.4
A A (G) 83 21 1,068 163 1,337 51 14 2,737
Wt E/G% 91.6 57.1 86.4 85.3 74.9 84.3 64.3 80.5
LA DD B E (H) 504 93 5,376 887 5,994 416 95| 13,365
ARG (1) 555 77 4,522 941 6,815 393 80| 13,383
F e H/T% 90.8 120.8 118.9 94.3 88.0 105.9 118.8 99.9




BT N =R R G B (A= — )]

TRk 2846 H
HOfE jEE B Sz SLa /AJ:EF'AIE% AN ZJTE% %ji x A . T4 [A A 1HADPOORE B

AT — EI(1§% (2) %(Sfﬁ B (4) K {%;3 )f) 3 (6) K ﬁﬁ(j;f)i (%O%kj:; T S%(B) [A/B %/ &% (C) |#F (D) | C/D%
HAINY 0 1 0.0 21 11 190.9
BEHET 99 1 100 75| 1333 645 739 87.3
EE5; 30 2 13 45 56 80.4 300 261 114.9
A H 138 219 357 405 88.1 2,001 2,034 98.4
AN 44 2 14 24 84 791  106.3 456 438  104.1
VA 45 13 46 1 105 172 61.0 743 1,000 74.3
=7 10 11 3 24 25 96.0 283 197| 1437
=ESTED 23 2 11 11 47 28| 1679 206 189 109.0
H g 3 1 113 51 65 10 243 245 99.2 1,664 1,610 1034
AR 126 126 57| 2211 616 492 1252
=P 9 5 511 81 781 11 1 1,399 1,251 111.8 8,220 8,128 101.1
UDKZ 77 A 11 12 23 27 85.2 100 105 95.2
D [E| PE 2 7 13 22 11 200.0 133 95  140.0
i) A H 83 15 12 110 124 88.7 662 640/ 103.4
&t (E) 122 10 999 187 1,261 0 89 17 2,685 2,556  105.0 16,050 15939 100.7
ATAER A 5 (F) 103 4 906 210 1,217 109 7 2,556

Wt E/F%| 1184 250.0 110.3 89.0 103.6 | #DIV/0! 81.7 242.9 105.0

ai A & (G) 76 12 923 139 1,002 43 9 2,204

Mt E/G%| 1605 83.3 108.2 1345 125.8 | #DIV/0! 207.0 188.9 121.8

LA DD B E (H) 626 103 6,375 1,074 7,255 505 112| 16,050

ARG (1) 658 81 5,428 1,151 8,032 502 87| 15,939

F e H/T% 95.1 127.2 117.4 93.3 90.3 | #DIV/0! 100.6 128.7 100.7




BT N =R R G B (A= — )]

TRL284ET H
HOfE j{ B Sz SLa /,me% AN /AJ:*”E% f%%%% KO . T4 [A A 1HADPOORE B
AT — EI(1§% (2) %(Sfﬁ B (4) K {%;3 )f) 3 (6) K m(§)$ (%O%E;i; T S%(B) [A/B %/ &% (C) |#F (D) | C/D%
HAINY 8 8 3|  266.7 29 14| 2071
BEHET 95 95 133 71.4 740 872 84.9
EE5; 21 2 3 22 48 38| 1263 348 299 116.4
A H 100 255 1 356 379 93.9 2,357 2,413 97.7
AN 22 17 35 74 68| 108.8 530 506 104.7
VA 59 4 33 2 98 205 478 841 1,205 69.8
—7 16 1 3 20 53 37.7 303 250 121.2
=S 24 1 5 9 39 28| 1393 245 2171 1129
H g 3 1 93 18 126 9 250 273 91.6 1,914 1,883 101.6
AR 113 113 71 159.2 729 563| 1295
=P 13 5 560 147 985 17 1,727 1,648 104.8 9,947 9,776/ 101.7
UDKZ 77 A 5 16 21 11 190.9 121 116 104.3
D [E| PE 21 9 12 42 10| 4200 175 105 166.7
i) A H 1 53 26 21 101 114 88.6 763 754  101.2
&t (E) 110 9 976 220 1,542 0 120 15 2,992 3,034 98.6 19,042| 18973| 1004
ATAER A 5 (F) 93 10 942 188 1,719 72 10 3,034
Wt E/F %| 118.3 90.0 103.6 117.0 89.7 | #DIV/0! 166.7 150.0 98.6
A A (G) 122 10 999 187 1,261 89 17 2,685
Wt E/G% 90.2 90.0 97.7 117.6 122.3 | #DIV/0! 134.8 88.2 111.4
LA DD B E (H) 736 112 7,351 1,294 8,797 625 127 19,042
ARG (1) 751 91 6,370 1,339 9,751 574 97| 18,973
F e H/T% 98.0 123.1 115.4 96.6 90.2 | #DIV/0! 108.9 130.9 100.4




BT N =R R G B (A= — )]

TR 2848 H
HLOfE jEE b - RLo ] /,me% AN ;J:*‘Eﬁ@ f%%%% x A . T4 [A A 1AM EE B
AT — EI(1§% (2) %(Sfﬁ B (4) K {%;3 )f) 3 (6) K m(§)$ (%O%E;i; T S%(B) [A/B %/ &% (C) |#F (D) | C/D%
HAINY 12 12 3|  400.0 41 17 2412
BEHET 80 1 81 791 1025 821 951 86.3
EE5; 36 5 12 53 35| 151.4 401 334 120.1
A H 80 121 201 322 62.4 2,558 2,735 935
AN 35 1 11 35 82 71 115.5 612 577  106.1
VA 39 11 26 76 115 66.1 917 1,320 69.5
=7 8 4 2 14 42 33.3 317 292| 108.6
=S 13 8 4 25 36 69.4 270 253  106.7
H g 1 101 35 48 6 191 190 100.5 2,105 2,073| 1015
AR 76 76 49|  155.1 805 612| 1315
=P 11 3 359 81 529 9 1 993 909| 109.2 10,940 10,685 1024
UDKZ 77 A 7 9 16 9] 1778 137 125  109.6
D [E| PE 25 1 13 39 13|  300.0 214 118 1814
i) A H 47 15 18 80 85 94.1 843 839| 1005
&t (E) 128 4 714 166 834 0 77 16 1,939 1,958 99.0 | 20,981| 20,931 100.2
ATAER A 5 (F) 110 6 607 146 1,005 62 22 1,958
Wt E/F%| 1164 66.7 117.6 113.7 83.0 | #DIV/0! 124.2 72.7 99.0
A A (G) 110 9 976 220 1,542 120 15 2,992
Wt E/G%| 1164 44.4 73.2 75.5 54.1 | #DIV/0! 64.2 106.7 64.8
LA DD B E (H) 864 116 8,065 1,460 9,631 702 143 20,981
ARG (1) 861 97 6,977 1,485 10,756 636 119] 20,931
F e H/T% 100.3 119.6 115.6 98.3 89.5 | #DIV/0! 110.4 120.2 100.2




BT N =R R G B (A= — )]

T84
A ;EE i - S i /AJ:félEliﬁﬁ N A /AJ:‘F'JE% fF%E\A%i PN . HIT4F A 1H oD REHEHK

A—T)— El(lt)%J (2) %(?jﬁ ~ (4) 5 i )f) B (6) " ﬁﬁ(j;f)ﬂa: (%O%;E e PR | AB 9] A Q)R (D) €7D %
AN 6 6 4 150.0 47 21 223.8
L E T 128 128 135 94.8 949 1,086 87.4
H & 46 9 35 90 81 111.1 491 415 118.3
AR H 154 196 350 320 109.4 2,908 3,055 95.2
YN 66 10 23 46 145 127 114.2 757 704 107.5
~ 61 5 23 2 91 174 52.3 1,008 1,494 67.5
=7 8 10 6 24 41 58.5 341 333 102.4
=5 10 2 14 10 36 36 100.0 306 289 105.9
H pE 1 147 37 66 3 254 268 94.8 2,359 2,341 100.8
ARXF 90 90 67 134.3 895 679 131.8
b 14 2 579 106 842 17 1,560 1,442 108.2 12,500 12,127 103.1
UDK7 7 A 11 2 13 20 65.0 150 145 103.4
T DOMEPEH 10 3 17 30 35 85.7 244 153 159.5
[N 99 23 33 155 163 95.1 998 1,002 99.6
&t (B) 158 14 1,176 2117 1,266 0 118 23 2,972 2,913 102.0 23,953 23,844 100.5
AR A & (F) 132 28 882 239 1,474 126 32 2,913

W . E/F % 119.7 50.0 133.3 90.8 85.9 | #DIV/0! 93.7 71.9 102.0

g A F(G) 128 4 714 166 834 717 16 1,939

Wt E/G % 123.4 350.0 164.7 130.7 151.8 | #DIV/0! 153.2 143.8 153.3
1ABD G (H) 1,022 130 9,241 1,677] 10,897 820 166] 23,953

ATFEREE (1) 993 125 7,859 1,724 12,230 762 151 23,844

[ H/T% 102.9 104.0 117.6 97.3 89.1 | #DIV/0! 107.6 109.9 100.5




BT N =R R G B (A= — )]

28410 A
HLOfE jEE b - RLo ] /,me% AN ;J:*‘Eﬁ@ f%%%% x A . T4 [A A 1AM EE B
AT — EI(1§% (2) %(Sfﬁ B (4) K {%;3 )f) 3 (6) K m(§)$ (%O%E;i; T S%(B) [A/B %/ &% (C) |#F (D) | C/D%
HAINY 3 3 1| 300.0 50 22| 22713
BEHET 112 112 67| 167.2 1,061 1,153 92.0
EE5; 29 3 22 54 52| 1038 545 467 116.7
A H 88 230 318 355 89.6 3,226 3,410 94.6
AN 31 1 12 19 63 64 98.4 820 768| 106.8
VA 60 14 28 15 117 107 109.3 1,125 1,601 70.3
=7 11 3 21 35 52 67.3 376 385 97.7
=ESTED 13 1 5 12 31 27| 1148 337 316 106.6
H g 2 149 29 47 6 233 235 99.1 2,592 2,576] 100.6
AR 81 81 71 114.1 976 750  130.1
=P 15 4 484 76 729 21 1,329 1,278  104.0 13,829 13405 103.2
UDKZ 77 A 8 8 13 61.5 158 158  100.0
D [E| PE 3 6 31 40 75 53.3 284 228 1246
i) A H 61 18 19 2 1 101 89| 1135 1,099 1,091 100.7
&t (E) 101 6 965 157 1,140 0 103 53 2,525 2,486 1016 | 26478 26,330 100.6
ATAER A 5 (F) 105 14 686 211 1,302 80 88 2,486
Wt E/F % 96.2 42.9 140.7 74.4 87.6 | #DIV/0! 128.8 60.2 101.6
A A (G) 158 14 1,176 217 1,266 118 23 2,972
Wt E/G% 63.9 42.9 82.1 72.4 90.0 | #DIV/0! 87.3 230.4 85.0
LA DD B E (H) 1,123 136] 10,206 1,834 12,037 923 219| 26,478
ARG (1) 1,098 139 8,545 1,935 13,532 842 239 26,330
F e H/T% 102.3 97.8 119.4 94.8 89.0 | #DIV/0! 109.6 91.6 100.6




BT N =R R G B (A= — )]

TRk28411 A
O % E . i J‘;E /J@ME /%\ i;é /J\’*”EE Effi Z;?k%:é s ) HiT 4R [ /] LADLO R G

1% 15 15 i 47 &% - ] » .
- (1) (2) (3) @W | ol ® ® | (9 HB) [ A/B % | A (C) iR (D)) €7D %
KA INY 5 5 2| 2500 55 24| 2292
BLET 1 118 86| 137.2 1,179 1,239 95.2
A By 41 1 4 23 69 47| 146.8 614 514 1195
A H 271 359 282 1273 3,585 3,692 97.1
AR 28 4 16 28 76 85 89.4 896 853|  105.0
~VH 10 33 103 94|  109.6 1,228 1,695 72.4
= 1 10 15 45 43|  104.7 421 428 98.4
=ESED 19 6 9 34 37 91.9 371 353|  105.1
HPE 3 2 27 111 6 256 177 1446 2,848 2,753| 1035
ARK 94 94 72| 1306 1,070 822| 1302
Ka# 16 5 105 744 9 1,287 1,191 108.1 15,116] 14596 103.6
UDKT7 7 A 5 3 8 16 50.0 166 174 95.4
D [E| PE 2 2 58 62 86 72.1 346 314 1102
i) A H 20 13 104 83| 1253 1,203 1,174 1025
&it (B) 114 12 189 1,282 0 80 73 2,620 2,301 1139 | 29,098 28,631 101.6
RTAER A 2 (F) 108 10 180 1,105 104 102 2,301
W . E/F %| 1056 120.0 105.0 116.0 | #DIV/0! 76.9 71.6 113.9
AT A F(G) 101 6 157 1,140 103 53 2,525
Wt E/G%| 1129 200.0 120.4 1125 | #DIV/0! 77.7 137.7 103.8
LA S0 B3 (H) 1,237 148 2,023] 13,319 1,003 292| 29,098
RTAEZGE (1) 1,206 149 2,115 14,637 946 341 28,631
W o H/1% 102.6 99.3 95.7 91.0 [ #DIV/0! 106.0 85.6 101.6




BT N =R R G B (A= — )]

TRk28412 A
HOfE j{ B Sz SLa /AJ;iF'é@%% AN /);’*'Jzﬁﬁ f%%%% x A . T4 [A A 1HADPOORE B
AT — EI(f/J (2) %(?jﬁ B (4) K {%;3 )f) 3 (6) K Fﬁ(j§)$ (%O%Ef T S%(B) [A/B %/ &% (C) |#F (D) | C/D%
HAINY 14 14 #DIV/0! 69 24| 2875
BEHET 91 7 98 97| 101.0 1,277 1,336 95.6
H iy 38 13 11 26 88 38| 2316 702 552| 127.2
A H 53 208 261 201 129.9 3,846 3,893 98.8
R 26 26 26 78 86 90.7 974 939 103.7
~VH 31 8 39 3 81 74| 1095 1,309 1,769 74.0
=7 14 9 1 11 35 39 89.7 456 467 97.6
ZESTD 28 4 10 9 51 39| 1308 422 392| 1077
H g 2 78 39 79 6 204 162 125.9 3,052 2,915 104.7
AR 1 78 79 63| 1254 1,149 885 1298
rax 9 6 358 88 506 18 1 986 1,111 88.7 16,102| 15,707| 1025
UDKZ 77 A 8 5 13 12 1083 179 186 96.2
D [E| PE 2 35 37 44 84.1 383 358 107.0
i) A H 56 24 12 2 94 83| 1133 1,297 1,257 103.2
&t (E) 111 23 682 206 952 0 98 47 2,119 2,049] 1034 31,217 30680 101.8
ATAER A 5 (F) 104 13 776 174 839 82 61 2,049
W k. E/F %| 106.7 176.9 87.9 1184 113.5 | #DIV/0! 119.5 77.0 103.4
ai A & (G) 114 12 870 189 1,282 80 73 2,620
Wt E/G% 97.4 191.7 78.4 109.0 74.3 | #DIV/0! 122.5 64.4 80.9
LA DD B E (H) 1,348 171 11,758 2,229 14,271 1,101 339| 31,217
ARG (1) 1,310 162 10,013 2,289| 15,476 1,028 402| 30,680
F e H/T% 102.9 105.6 117.4 97.4 92.2 | #DIV/0! 107.1 84.3 101.8




